


2103 A crate 1s supported by three cables as shown. Determine the weight
W of the crate, knowing that the tension in cable AD 1s 924 |b.
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Fig. P2.103 and P2.104



B RN
T|“'7W' >\\‘—'7z?—('l—;—-6-"+ﬂ A
S gSJ -l"-é.-’s‘l()
= - #¥ i 1L 7¢) I K
T}X :“1“(24'36 ‘L
23 _ R
Nix= 5y = et . = 3L (5)
3 T) y 33 = .5
T,,=- g = ~302 L
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/ 56+ 56+ 700 = 2023 )b |

. vy = T3 My
= 325 22 -
=315 5= 700 b
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Equivalent
- forces —lF,

Fig. 3.3 Force F’ is equivalent to force F, so the motion of the truck is the
same whether you pull it or push it.
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